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The magnitude of the couple moment is most likely to be:
(A) 236 Ib-ft
(B) 2400 Ib-ft
C) 3000 Ib-ft l
(D)) 3120 Ib-ft ble aollb fE tzo (e )
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A vector F = 25 i +60 j +55 k, determine the angle between F and the X-axis.
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A beam supporting a variable but linearly dis-

tributed load is shown above. The magnitude of

the vertical reaction at support A is

Qsoo 1. (B) 9001b.  (C) 1000 Ib.
D) 1,200 1b.  (E) 2,400 1b.

A uniforr}'x bar is mounted so its midpoint is fixed
at the origin of a three-dimensional coordinate
system. The bar can turn in any direction about
this mounting. A force F of 3i + 4j +5k acts
on one end of the bar. The bar will remain
stationary if acting on its other end there is a

force of
@3“-4] +5k
B) 5i+4j +3k

(C) 3i+4j - 5K
(D) 3i - 4j - 5k
(E) =3i - 4j - 5k

I s
2 Wb
== 2t4 9t SK

o Find the tension, T, that must be applied to pulley
A to lift the 1200 N weight.
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5- The piping system has a fixed-end support at A. The reactive moment at support A is

73.2 Ib-ft
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A beam supporting a variable but linearly distributed
load is shown above. The magnitude of the vertical
reaction at support B is

(A) 120N

180N
(C) 240N
(D) 360 N
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Determine thy itude of the reacti =0z i i
nuneromfx?:e agon‘::gmtu e of the reaction at A when =30°. Answer: 1) ON b) 150 N d)319 N o) De[ern’ur]eél;?:5 r;iactlon at support A.
(A) 6.93 kip
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3 Determine the force in member, [ the trus: indi
‘ : ss and indicate wheth isi
compression. Answer: a) 0 b) SOQ ¢) 1000/ d) 1500 €)2000 Ib o 2
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For the given load, identify all zero force members in the Howe roof truss.

The zero force members in the following figure are:
(A) BL,FH, BK, EI - (Ay\(l¢)fg(l¢)+7(£)

(B) BL,BK,CK, BK, EL EJ
(C) BL,FH, BK, FL EL EJ -

'\' K, CK. EJ BL 1P FH. 1 L ; -
((D)BL. BK, CK. EJ. EL IF. F _2“}\1_(0&)(6)13

A]-; 7. 36 t‘\Pl

L x I 0

: ' 2m,6@2m .

5 <7
* Find the force in member }E.

z MQ:D
(AY\(so )—-@-S‘ooo y(lio)=0o
Ay = g333

s _Gechinrts The it

M$I\~1

10m 0m 10m

(&) 0 2 5o s
By o 3 DE- = g780 N
) 10000 N (compression) AY == DE Cox Q =0





[image: image4.jpg]Set IV: Geometric Properties

The vertical location of the centroid of the shaded area
shown above is most nearly
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Determine the moment of inertia of the shaded

(A)_250 in*

33 in*
(D) 498 in*
(E) 505 in*
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f inertia about the A-A axis of 600 in
t the B-B axis. The C-C axis passes through the centroid of the area.
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The ;_(::'qg:dinam of the centroid of the composite
shadéd area shown above is
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* If the total area is 12 in?, determine the
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\ surface measuring 6 inches by 12 inches has

wo rectangular areas removed as shown above.

I'he moment of inertia of the net arca about its
mOsL

(1) 900 in*  (E) 1,440 in*
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; The coefficient of static friction between the block
and the inclined plane shown above is 0.25. The
block is in equilibrium. As the inclined plane is

raised, the block will begin to slide when the

In the diagram above, block A weighs S0 pounds,
block B weighs 80 pounds, and block C weighs

g N —

(A) sine of angle ¢ = 1.0

Body A weighs |\%newtons and is on an 1nf:l|ped 100 e Tie neticie i of teiction atall (B) cosine of angle ¢ = 1.0

plane, as shown above. The coefficient of friction surfal ces is 0.30. What is the maximum force F (C) sine of angle ¢ =0.25

between the body and the plane is 0.60. The frictional that can be applied to block B without disturbing =0.25
(E) tangent of angle ¢ = 0.2_}

force developed between the two is Tmost nearly equilibrium?
(A) 151b. (B) 39 Ib.
@) 20N (D) 69%b.  (E) 84 Ib.
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